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RS4RI H K H B
HT HK A0 (58) A (40) An GH
H #HT 479 399 389 788
AT 1,783 1, 670 1,797 3,467
JHET 987 907 832 1,739
== 1T 1,256 992 1,048 2,040
FFHT 1,961 1,817 1,910 3,727
JTHT 1,658 1,707 1,851 3, 558
i 839 924 969 1,893
A AET 611 518 564 1,082
At ZEHT 893 863 889 1,752
BT 692 627 623 1,250
HAET1 T H 887 845 847 1,692
HARET2 TH 798 782 757 1,539
PEFTIR 1 T H 2,192 1,848 1,964 3,812
VEETIR 2 T H 976 873 916 1,789
FRET 1T H 1,572 1,307 1, 659 2, 966
T2 TH 1,249 951 1,118 2, 069
kAT 3 T H 1, 429 1, 442 1,523 2,965
T4 TH 2,852 2,654 2, 866 5, 520
SRHET 934 900 944 1,844
FRAEHT 1,216 1, 161 1,239 2, 400
EFIT1 TH 517 452 496 948
EJFET2 TH 776 845 792 1,637
KT 3 T H 731 718 706 1,424
EJFIT4 TH 213 214 205 419
EJFET5 TH 473 450 196 946
AL P IR BT 1,113 1,136 1,083 2,219
[ B AT 1, 597 1, 666 1,794 3, 460
FiEs 1,204 1,247 1,299 2,546
E1TH 430 463 497 960
tE 2 TH 626 736 741 1,477
tE3TH 479 539 529 1,068
EE4 T H 405 515 497 1,012
FAZENT 1,399 1,047 1,096 2,143
=L 723 697 732 1,429
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S FI54E9 A K H B
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,025 833 1,025 1, 858
ERNET 912 983 1,010 1,993
KETHH 167 96 152 248
[icg gzl 875 929 875 1,804
HOHTHHT 1,004 1,084 1,065 2, 149
KFEHE 1,740 2,032 2,011 4,043
KFFRIL 1,518 1,536 1,595 3,131
Al - /N 6, 159 6, 360 6, 340 12, 700
KT TNLEm 4,937 5, 392 5,383 10, 775
KR EE 4,774 4, 566 4, 626 9,192
WAL 961 803 847 1, 650
[EREa 503 407 410 817
S 1,503 1,365 1,466 2,831
EoE1TH 545 537 511 1,048
BEo=2TH 712 639 649 1,288
KFEA K 4,790 5,023 5,053 10, 076
KFEFIE 3,397 3,633 3, 650 7,283
KFA 11, 050 11, 547 12,073 23, 620
K7 Eilin 2,017 2, 066 2,057 4,123
/INFFRET1 TH 2, 629 2,317 2,708 5,025
/INFFRET2 TH 1,282 1,229 1, 207 2,436
/INFFRET3 TH 2, 429 2,193 2, 467 4, 660
/INFFRET4 TH 1,589 1,503 1,515 3,018
KEd s 1,068 1,175 1,149 2,324
KFEFE 2, 384 2,571 2, 655 5,226
KFAH A A 726 622 17 1,339
== = 854 994 987 1,981
KFEdsit 76 111 88 199
1 T H 911 989 1,029 2,018
2 TH 971 1,089 1,109 2, 198
B3 T H 878 780 891 1,671
B4 TH 676 687 795 1,482
w5 TH 791 796 876 1,672
KFEWRZF 324 314 329 643
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BI54E9 H K H BiAE
my 4 A AR (B AR (&) AR GH
KT 204 249 235 484
KPR 809 948 976 1,924
RF-H HH 144 182 180 362
KFBTH 148 182 162 344
KFHIH 16 21 19 40
KFFE A 462 542 495 1,037
Pl 1 TH 1,056 1,021 1,137 2, 158
il E2TH 1,141 1,146 1,203 2, 349
=M1 TH 939 997 1,068 2,065
M2 TH 352 322 385 707
3 TH 829 853 876 1,729
A TH 1,194 1,128 1,166 2,294
HRLAr 1 TR 1,643 1, 477 1,618 3, 095
WL F2 TH 1,421 1,541 1,555 3,096
Bkl 3 TH 779 827 926 1,753
WL F4 T H 370 227 311 538
WL E5 T H 160 152 171 323
WL 6 TH 597 484 580 1,064
Pl 1 TH 1,090 1,124 1,085 2, 209
w2 TH 323 333 369 702
farE1TH 1,498 1,437 1,390 2,827
My 2TH 687 725 742 1,467
M3 TH 858 826 843 1, 669
#1TH 277 342 304 646
H2TH 269 325 327 652
#3TH 1,399 1,411 1, 457 2,868
= &1TH 365 445 404 849
= E2TH 192 218 223 441
= &3TH 286 355 337 692
=E4TH 426 485 452 937
—&5TH 678 716 698 1,414
HEA 345 413 391 804
| 227 280 282 562
WA2TH 935 908 890 1,798
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i) % A (59) AB (%) UNEGD)
WA3TH , 067 1,386 1,512 2, 898
WAR4TH 114 83 128 211
WA7TH 337 349 368 717
WA TH , 547 1,163 1, 404 2,567
FRER1ITH , 736 1,855 1,910 3,765
FRER2TH 941 1,004 979 1,983
1 TH 234 253 267 520
2 TH 490 594 633 1,227
It 3TH , 034 1,137 1,165 2, 302
4 TH 60 80 70 150
e [ B 352 422 396 818
bR T 627 570 642 1,212
FT AT 593 711 729 1,440
WETIR1 T H , 472 1,473 1,309 2,782
WATIR 2 T H , 381 2, 649 2, 452 5,101
WRETIR 3 T H , 560 1,646 1,471 3,117
WATIR 4 T H 450 530 471 1,001
WAETIR5 T H 818 776 739 1,515
WATRFIE 1 T H , 334 1,451 1,293 2, 744
HWHTRFIE 2 T H ,323 1,371 1,321 2, 692
WHTRAIE 3 T H 861 953 871 1,824
<TDEHE1ITH 434 289 371 660
<TDEH2TH 716 661 595 1,256
<TDEHE3ITH 884 722 813 1,535
TER1ITH 146 152 139 291
TER2TH 410 527 502 1,029
HEm 3 T H 550 608 590 1,198
TER4TH 600 649 647 1,296
MMRE1TH 678 761 781 1,542
MMRE2TH 709 765 841 1, 606
INFFRFE1TH 551 613 678 1,291
INFEFRFE 2 TH 544 571 616 1,187
INFfER 3T H 891 1,010 968 1,978
INFfER4 T H 803 973 971 1,944
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i) W A (59) AR (&) AR GH
INFHER 5 T H 561 762 687 1, 449
/INFFERG 6 T H 605 595 623 1,218
/INFFEET 5 T H 586 598 594 1,192
WNFRRTET 1 T H 758 760 726 1, 486
/WNFfRTET 2 T H 561 613 599 1,212
/NFFRTHT 3 T H 827 1,038 1,036 2,074
JEEFHHET 1 T H 90 104 116 220
LB 2 T H 26 36 21 57
¥ 1 TH 281 313 314 627
¥ 2 TH 154 181 181 362
¥ 3 TH 191 141 200 341
B 1 TH 102 123 127 250
kB2 TH 141 178 175 353
B3 TH 143 169 179 348
EFH1TH 826 805 819 1,624
E#FH2TH 1,258 1,383 1,343 2,726
EHFIE3ITH 1,406 1, 565 1,572 3,137
EHFI4TH 1,330 1,435 1,553 2,988
EHFIESTH 1, 687 1,887 1,917 3,804
INEEE 887 972 966 1,938



















